(NrEZAEHMRER): HEE (M)

2%kt 10.72M

FAE&E 13

E= BRE
B | B2 | ENES | ENEE4 | ENES | ENE | EEE2 | ENES | ENE4 | ENES
580Hi{i | 659HAGI | 732Bi{i | 802Eifr | 871Hifu || 589BAGL | 659Bifu | 732BAGT | 802Eifu | 871HAfi
1. Y—EXFR#E 6,314 7,064 7,847 8,597 9,337 6,314 7,064 7,847 8,597 9,337
2. NEERIRIGTEE 5,682 6,357 7,062 7,737 8,403 5,682 6,357 7,062 7,737 8,403
3. BECHIHE 632 707 785 860 934 632 707 785 860 934
4. BE(CRHE1E%E
B10E1 B 300 300
BRE 2B 390 390
BIREIBED 650 650
=ik KO 1,360 1,360
BRE AR 1,690 1,690
5. BEICRSE18%
B30 1 ERRE 380 0
BRE 2 480 430
B0 E IR 880 430
SRE AR 1,231 915
6. HCHHEESE (3+445) (3+445)
(B =1EKmE] [BEThDEDHDME]
O EREEENE sEEfr] 6] (DEEEMEGHIEIICOE) | 686 7| X1 —BHf=Y
QBEEFMGIEME (1) [368 1] 39| |(QWHAME 30Eifiz| 33] X2 ZRICIEERELTS
QFEEAFIME(T) ABifr] 5| |[@EBO#FFME(I) X1 aoogifr| 429] X3 AFTEFICIE DA
@HREBEREME(D) 13841] 14] (@QREXEERFME %3 20B 61| 22
OEBEEIRCAIME %2 |108 6] 11
ORFMNEHAERHME (1) X1 |40Bif7| 43

ONEBBELAREME (1) =NERNRRE IR (ERY-CARSENERE) x 425 NEEE (14%) x 1EMQEM(10.72) D18

SH6ESH1HNIE




(NrEZAEHMRER): HEE (M)

2%kt 10.72M

FA&ERE 23

E= BRE
B | B2 | ENES | ENEE4 | ENES | ENE | EEE2 | ENES | ENE4 | ENES
580Hi{i | 659HAGI | 732Bi{i | 802Eifr | 871Hifu || 589BAGL | 659Bifu | 732BAGT | 802Eifu | 871HAfi
1. Y—EXFAHE 6,314 7,064 7,847 8,597 9,337 6,314 7,064 7,847 8,597 9,337
2. NEERIRIGTEE 5,051 5,651 6,277 6,877 7,469 5,051 5,651 6,277 6,877 7,469
3. BECHIHE 1,263 1,413 1,570 1,720 1,868 1,263 1,413 1,570 1,720 1,868
4. BE(CRHE1E%E
B10E1 B 300 300
BRE 2B 390 390
BIREIBED 650 650
=ik KO 1,360 1,360
BRE AR 1,690 1,690
5. BEICRLEIELE
B30 1 ERRE 380 0
BRE 2 480 430
B0 E IR 880 430
SRE AR 1,231 915
6. HCHHEESE (3+445) (3+445)
(B =1EKmE] [BEThDEDHDME]
O EREEENE sEf| 1] (DEEEMECRAIEICOE) | 68| 18] X1 —A %Y
QBEEFHMGIEME (1) [368 1] 77| |QWHAME 30Eifiz| 65] X2 ZRICIEERELTS
QFEEAFIME(T) 4B o (@FBOHMEME(I) X1 40084z| 858 3 ARREFIZIEIDA
@HREBEREME(D) 13841 28] |(@REXEERFME %3 20B 67| 43
OFEBEIRCAME X2 |10H ] 22
ORFMNEHAERHME (1) X1 |40EiH7| 86

ONEBBELAREME (1) =TERNRE IR (ER-CARSENERE) x 425 NEEE (14%) x 1ELQEM(10.72) D28

SH6ESH1HNIE




(NrEZAEHMRER): HEE (M)

2%kt 10.72M

FA&ERE 33

E= BRE
B | B2 | ENES | ENEE4 | ENES | ENE | EEE2 | ENES | ENE4 | ENES
580Hi{i | 659HAGI | 732Bi{i | 802Eifr | 871Hifu || 589BAGL | 659Bifu | 732BAGT | 802Eifu | 871HAfi
1. Y—EXFAHE 6,314 7,064 7,847 8,597 9,337 6,314 7,064 7,847 8,597 9,337
2. NEERIRIGTEE 4,419 4,809 5,342 6,017 6,535 4,419 4,809 5,342 6,017 6,535
3. BECHIHE 1,895 4,944 5,492 2,580 2,802 1,895 2,255 2,505 2,580 2,802
4. BE(CRHE1E%E
B10E1 B 300 300
BRE 2B 390 390
BIREIBED 650 650
=ik KO 1,360 1,360
BRE AR 1,690 1,690
5. BEICRLEIELE
B30 1 ERRE 380 0
BRE 2 480 430
B0 E IR 880 430
SRE AR 1,231 915
6. HCHHEESE (3+445) (3+445)
(B =1EKmE] [BEThDEDHDME]
O EREEENE sEfr| 16| (DEEEMEGRAIEICOE) | 68| 20] %1 —A %Y
QBEEFHGIEME (1) [365 1] 116] |(QWHAME 30Eifz| 97] X2 ZRICIEERELTS
QFEEAFIME(T) 4B 13] (@BOMHEME () X1 40084z 1287] 3 ARTEEFICIEIDH
@HREBEREME(D) 13841 42| |(@OREXEERFME %3 20E 41| 65
OEBEIRCAME X2 |10H 47| 33
ORFMNEHAERHME (1) X1 |405if7]| 129

ONEBBELAREME (1) =NTERNRECR(ER-CARSENERE) x 425 NEEE (14%) x 1EA QO EM(10.72) D3F

SH6ESH1HNIE




